


YCTHbIN
1) )gﬂRQIGKaKOFO BH/1A

HA3bIBAETCH KBAJAPATHBIM?

2) Kakoe ypaBHeHME Ha3bIBAeTCSA
HEIMOJIHbIM KBAAPATHBIM?

3) Kakoe ypaBHeHHe HA3bIBACTCS
IIpuBeaeHHBIM?

4) Kakoe ypaBHeHHE Ha3bIBACTCS
bukBaapaTHbIM?



YecmHbIU cyem.
CKOJIbKO KOpHeuU
umeem ypaeHeH

. ue: .
1) 7x*-2x-3=0 2)4x-7x*+1=0
) x*+3x+1=0 4)x*-3x+5=0
5) x> —5x—1=0 6) x2 —4x — 4=0




Pelinte ypaBHeHue

1) 3x*+4x+1=0
2) 5) x(x+1)=56

3) 4x*-4x+1=0

4) 2(x*+3x)=x+7

5) 2x*+x+1=0

6) 9x’=

7) 6x°=5x+1




« 3doposkbe 30 moa2o
fepeegetitieaem

cyacnmuiuegee 60.
KOpPOA.






JlomaniHee 3aJgaHue

* Neb533 (2;4),
* Ne534 (2),

* Neb535 (2;4)







